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Section "A" 50 Marks
. What is ICAO Annex-13? Explain its policy, requirements and implementation in
Nepal. 10

. What is the importance of Weight and Balance, Center of Gravity on the aircraft?

Describe how the Center of Gravity is calculated for the aircraft. 10

. Describe what reduces aircraft performance. Also describe the factors that affect
aircraft STALL. 5+5=10

. What are the main causes of air accident in Nepal? As an Airworthiness engineer, what
effective measures can you adopt to minimize such air accident in the future? What do
you understand by HFACS? 20

Section "B" * - 50 Marks

. What do you mean by Rvé'lv‘l? What are the benefits of the RVSM? Briefly describe the
RVSM Approval Regulatory in the context of CAAN. 10

. What do you mean by a Part-145 Organization and Part-M Organization? What are their

job functions and differences between them? Describe. ; 10

. What is safety oversight system? Briefly describe in the context of Nepal. Do you know
why Nepal is blacklisted from EASA? 10

. What is Quality Management System? How is it helpful and used for continual

improvement of the organization? Give suggestive and analytical explanation. 20

-The End -
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